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Qla y=—kx*+3
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Qlb —kx*+3=x+4, kx> +x+1=0, A=0, k=

——

Qlc —ix2+3:0,x2:i 12=2243, [-243.0). (23.0)

Q2a (a+ a+1Xa—\/Z+1)=a2+a+1

(a+ 3a+1Xa—\/£+1)=a2—a+1

Q2b
x6—1=(x2—1)(x4+mx2+1)=x6+(m—1)x4+(1—m)x2—1,
m=1

Q2c
P(x)= ()c2 - IX)C4 +x7+ 1)= (x+1)(x - 1)()c2 +x+ IXxZ —-x+ 1)

= (e )= DV + 1= x + 1o 4B + 1 —43x +1)
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Q3 e"+e " =Te" —Te™", 6e" -8 =0, 6 —8(€_x )2 =0,
Q4a

F(=x)=1log, (a(~ x))* =Tog, [a*(- x)*)=1og, (a*x*)=log, (ax)} = £(x)
Qb f(x)=log,(ax)’. f(y)=log,(ay)’

)+ £(y)=log, (ax) +log,(ay) =log, (ax) (ay) = log, (a’xy)

fley)=log, (axy), = flxy)= f(x)+£(»)

x2a’x

Q4c f(x)=log,(ax), f ’(x)zﬁ

. f'(x)zg for xe R\{0}
x

s flex)= 2 for all xe R\{0}, this statement is the same as
-Xx

fx)= 2 for all xe R\{0}

X
Also, f(-x)= f(x)=1log,(ax)’,
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Q6 Translate % units to the right, dilate in the y-direction by

factor 4, dilate in the x-direction by factor n, translate 9 units up.
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A= If(x) dx
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V2b

Q8b g[ﬁf(%}-ﬁ-ﬁ] dx

Q8a

Q8¢ \/Ex\/ng+\/5x(\/5b—\/5a)=2(A+b—a)
10000 .\ [0.1x09

9a p= 0.1, sd(P)= | =0.015
P2 P=150000 salp) 400
Qob Pr(>0.10)=0.5
Qoc Pr{10< N <70)=Pr(0.025< £ <0.175)=Pr(-5< Z <5) =1
Q9d (0.07,0.13)
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Q10a IZsin(Zx) dx=1, [~ cos(2x)]i
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- cos(% + 20{) + cos(% - 20!) =1, sin(2a)+ sin(2a) =1

sin(Za):—, 2a:£, azl
6 12
QI10b Pr (— <X< ;—Zj J.2s1n 2x)dx = [— cos(2x)i:

¥ RY4 kY4 hy/4 hY/4
=—coS| — |+ cos| — | =cos| — |+cos| — |=2cos| —
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